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58) 

 

a) 180° - 50° = 130° 

 

b) 180° - 120° = 60° 

 

c) 180° - 40° 30’ =              179°  60’ 

                                         -   40°  30’ 

                                           139°  30’ 

 

d) 180° - 110° 30’ 40” =         179° 59’ 60” 

                                           -   110° 30’ 40” 

                                                 69° 29’ 20” 

 

e) 180° - 71° 05” =              179° 59’ 60” 

                                         -   71° 00’ 05” 

                                           108° 59’ 55” 

 

f) 180° - 1’ 58” =       179° 59’ 60” 

                              -     0°  01’ 58” 

                                179°  58’ 02” 

 



 

59) 

 

a)    3x + x = 180°            b) x + 20° + 4x – 10° = 180°       c) x – 5° + 7x – 15° = 180° 

       4x = 180°                      5x + 10° = 180°                           8x – 20° = 180° 

       x = 180°                        5x = 180° - 10°                            8x = 180° + 20° 

               4                           5x = 170°                                     8x = 200° 

       x = 45°                          x = 170°                                       x = 200° 

                                                    5                                                   8 

                                             x = 34°                                         x = 25° 

 

 

60) 

 

a) 125° + x = 180°               b) x + 120° = 180°             c) 45° + 45° + x = 180° 

     x = 180° - 125°                   x = 180° - 120°                  90° + x = 180° 

     x = 55°                                x = 60°                               x = 180° - 90° 

                                                                                           x = 90° 



 

62)    x + (180° - x) = 60° 

                       5 

         5x + 180° - x = 300° 

                       5 

         4x + 180° = 300° 

         4x = 300° - 180° 

         4x = 120° 

          x = 120° 

                  4 

          x = 30° 

          

 

 

ex.: o n° 59 


